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Note : Four thoices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question,

Which form of Energy is Sound : t ‘4.(3 (f FARSIP 17dir
(A) Mechanical J:".-( (B) Electrical gﬁ-}gl (C) Thermal J /:’ (D) Chemical Jé‘{ L
If T=1.99 Sec then Frequency is : q.u'.'/ £ InT =1.998ec f1| (2@
(A) 0.50Hz (B) 0.60Hz (C) 0.40Hz (D) 0.30Hz

The relation between v, fand A of a Wave is : g ‘%Jw uyu‘f.;‘ﬁfguglgr £ U,J!Jbg (&)
(A vf=2 B fad=v © viA=f (D) v=2/f

'The speed of Sound at 0°C is : P ey 0°ChydLsl| @
(A) 38ms™ (B) 376mst (O 231ms’ (D) 331ms’

Electric Field Lines always : s s B 0 (B
(A) Always cross each other SGE St e ikl Q@>

(B) Cross each other in the region of weak field 30/ 2s#/ e 1) ‘z.@wu,ﬂjf

e P . :
(C) Cross each other in the region of strong field S8 1 e _ted_1s ik ns|

(D) Never cross each other G‘C S st Ll W

: gl (©)

Snell’s Law is :

72
Si @M Sini
(A) n=Sinr (B) n=§—;§§$©) A== (D) wue= Sini

Sinr

NS AL ¢ o »

The Index of Refraction depcnds& @ - 5;.?;‘:14/6(&"! 1 u—{ Yo =] JE)‘I )
(A) Focal length AR (B) The speed of light (5 »/

(C) The image distance ¥ 1 (D) The object distance ,.DGK{‘)'

t g /25 A BN B SIS AL L e tre yr L12V] B
What is the Power rating of a Lamp connected to a 12V source when it carries 2.5A :

(A) 30w (B) 145w (©) 4.8Ww (D) 60w

The Brain of any Computer Systemis : - 4.&(.: 1 (L/ el u} (9)
(A) Monitor £y (B) Memory (2 (C) Control Unit 2y (D) CPU g4y

If X = AuB, then X is ‘1’ when : t Sifng UL XF x=AB | (A0
‘A) Ais‘0'andBis ‘1’ B=14A=0 (B) AorBis 0’ B=0 | A=0

C) AandBare ‘1’ B=1sA=1 (D) Ais 1’ andBis 0’ B=0xslA=1

The turn ratios of a Transformer is 10. It means : : Inloeddun kLl /J(V'I/'/l 11
A) Ig=10I, (B) Ng=10Np (© Ng= %—;— D) Vg=Vp/10

Release of Energy by the Sunis dueto * D e b7 LB 2 BES S| 12
'A) Nuclear Fission J) ﬁy,{ (B) Nuclear Fusion c}ﬁ'z;/f-{ £

C) Buming of Gasses c,,.g:J ié /-—:( (D) Chemical Reaction zj..;iﬁu’gld;ﬂ
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Note : itis compulsory to attempt (5 --

5) parts each from Q.No.2, Q.No.3 and Q.No.4 and Attempt any (02) questions from
Part Il. Write same Question No. and its Part No. as given in the Question Paper,

30 = 2x15 | Make diagram where necessary. LS P o (Part-I) filaa>

Define Transverse Waves and give the example. s E y P Sy i) 27U
What is meant by Restoring Force? Se sl P e Uid Eop, (i)

What is the relation between Time Period and Frequency? Explain. Al wbﬁ?r‘.gfu"l’?ukuéux £ /;JJ'M:F ¢ (i)

Draw the Electric Field Lines for two Positive Point Charges. S s sz AdeE1ikiy (i)

Write any two uses of Capacitor. .gf.'.’J el L /'..’:{ (v)

State Joule’s Law and write its formula. _u:"V Uy B i S ewdS¥ )z (vi)

Prove that 1 kWh = 3.6 MJ b Sl (vii)

How can you avoid explosion due to Static Electricity? Yu}’éé’é?«fc_c’:k":&_!:é'.nc..?u,( ig /"gl b (v if)

i
Celnine na it (i) 340
s 0.5m 58 93 21340 ms™2 160/ el T STIP 7 P (1)
Calculate the Frequency of Sound Wave of speed 340 ms™t and Wavelength 0.5m.

Write two uses of Ultra Sound in the field of Medical. “EE i »L%H}J!w,:»”[_gﬁ-%f (iiv)
Write down two Services of Internet. 2 O/ F el nfes Fi(iv)
</ .Q‘jugfwmfu’ f ?ujgfb}fl/, (V)
ALALL P hinasrnd (vi)
oS Y N T (vii)

&
%@% Heaf et gty (vil)
L

What is Sound and how is it Produced?

What are Browsers? Give two examples.

Write the names of the components of Computer Based Information System,
Define Fission Reaction and write its equation.
Write two properties of Beta Particle.

i
Describe the Laws of Refraction of Light. _u./uy. uflféf{/lzu(fu (i) 47U

What is the Function of Light Pipe? A ?;.y’uis (S (1))
Under what conditions will a Converging Lens of 1@@0‘\1& Image? S bt IS pned Ly /“‘J AL (iii)
State Fleming's Left Hand Rule. LS KA LKL (iv)
What is the difference between a Ge nd a Motor? S I/t 2l by (v)

e Bnctd o p FIe L g Sl Vet s (vi)

When a Magnet is brought near to the Screen of a Television Tube » Picture on the Screen is distorted why?

Write the names of the different parts ofthe C.R.O. _égf rtéur" #ZcRr0 (vii)

How the house Safety Alarm works? Briefly explain. S A et/ 517 Y d (s g S (viii)

18=2x9 (Part - I) Py da>

(4) ) NN W YA (@) |5 4Jis
Explain how Electric Current flows through the battery with schematic diagram?

(5) g=10.0ms ™2 ,ﬁ..’é_gpl“é(ﬂuru’l-q_t‘fygﬂh u?/:’l;..{i&,lﬂﬁg};ubug ()
A Simple Pendulum completes one vibration in two seconds. Calculate its length, when g = 10.0 ms2,

(4) el SLGRE F i BIUE (L) |64
Explain the role of Information Technology in School Education. .

(5) KK L puf F 1/8¢00 801814 K- s30T IS 14~k ()

Carbon-14 has a half life of 5730 years. How long will it take for the quantity of Carbon-

14 in a sample to
drop 1/8 of the initial quantity?

(4) Lol e L Bz o T e AL P i fire (L) | T Al
What do you know by the term Mutual Induction? Explain with diagram.
(5) e BIn e arls Jf”,mJfl/,fLi_o([//_:,DUZ':’::(")‘L'/L'-Q:_SDJ;QJ’/L"/E/VQ ()

The Power of Convex Lens is SD. At what distance the object should be placed from the lens so that its real and
2 times larger image is formed.

2D Y =~ D Y=
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Note : Four cholees A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles, Cutting or filling two or more circles will result in zero mark in that question.

? %CC?.L:‘UL';‘I_LLLﬁ&J{;ui»dL 55,85, u.uu.uhl}'JTUi/ 141

Which device can be used to produce both Transverse and Longitudinal Waves : &)
(A) A string (s} (B) Aripple tank &}/
(C) A helical spring (Slinky) | Sola (D) A tuning Fork JSAE

AP e r L bt S Irb LLe L kS o kGl linc | @ |

Five Joules of work is needed to shift 10 C of charge from one place to another. The Potential Difference
between the places is : A 2v_® 0s5v (© sv (D 10V

L VBN e G5 8em B L By i Ll em 2L L p | B

An object is 14 cm in front of a convex mirror. The image is 5.8 cm behind the mirror. What is the focal

length of the mirror : (A) -4ucm (B) -82cm () ~-20em (D) -99em | |
How does sound travel from its source to your ears * q..(f‘: d_r .{%{af Lisdnig kil A
(A) By changes in Air Pressure Py { J." K L3 Lin

(B) By Vibration in wire or string ::.u"-" A I;J Gt \O

(C) By Electromagnetic Waves =rx(fiysGL Y.

(D) By Infrared waves ey SIDY)

Z
s b6 el ire 8 b A w“/;/ufj it Lind etz d pupl (5)

Combined resistance of two identical resistors cx ted in series is 8{). The combined resistance in a
parallel arrangement will be : (A) Nﬂs‘i/ ® 40 © 30 M 120

What does the term E-mail stand for e Y I ARG

(A) Emergency mail J<' (% £ <(\

(C) Electronic mail = £ 2%

(B) Extramail J<'1 241
(D) External mailg}f J /‘/.(l

If X = AuB, then X is ‘1" when : iy VX3 x=AB S| D
(A) AandBare‘l’ B=1uslA=1 (B) AorBis ‘0’ B=0LA=0
(C) Ais‘0’andBis ‘1’ B=1sA=0 (D) Ais‘1I’andBis 0’ B=0xsA=1

u'u’ ..C,-?dug./ Jf //!s:‘gbtlp/f/ly&.r/ qu.’,c'—u' /I:Jnd'/ Tysf oAU ..C;Q‘; (8)

If the current in the wire which is placed perpendicular to a Magnetic Field increases, the force on the wire :
(A) Increases J. £ % (B) Decreases Jn[ (C) Remains the same (n % f4? (D) Will be zero (§ 1 }4

t e DI AT B0 Iy (@
One of the Isotopes of Uranium is 2 S‘Z’U The number of Neutrons in this Isotope is :
@ 9 ® 146 (© 238 @D 330

: {.8(,(! J’ bcﬁ. JUIJ.TA’/I/C44M:_J u!j G’a.u:(u 10)

Which are the facts that are used by Programs to produce useful information :

(A) Hardware s34 (B) Software zs23l-  (C) Data i} (D) Programs flf:{,

A Practical Application of mutual induction is : 3 ‘4.0115!&! (f skl 11
(A) Blectric Motor /S (B) Generator 22 (C) Diode 3} (D) Transformer .61/

Ohm’s Law is applicableto : : gh‘nJUbf(u)ﬁ'éﬁﬂ 12)
(A) Liquids =W/l (B) Gasses - |

(C) Liquid Conductors only 43 28l (D) Metallic Conductors only ) 2/ f. 3%

. £
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Note : It is compulsory to attempt (5
from Part I, Write same Question No. and its Part No. as given in the Question Paper.

30 = 2x15 Make diagram where necessary. W o JQ nén,U (Part — D Jif 4>

c_(;fz_.uﬁ(» s -4.61'11(://,,/9@&!:?/‘?5412! (5--85)LJir e 4/ vl 3 AJir ZXJ‘Yﬁdﬁlﬂ gblany

-- 5) parts each from Q.No.2,, Q.No.3 and Q.No.4 and Attempt any(02) questions

-Zfi.:(}"U:"JQ/;/JIMFEKJIq.,b‘/«}fufl’:-?2u2/fl;ugﬂiﬁ;g}{bg (i)
A Simple Pendulum completes one Vibration in 2s. Find its Time Period and Frequency.
st ST IS0 s SE (i
How can you define the term Wave? e L/ d:‘..g A p T (i)
Define Capacitance of Capacitor and write its unit. -’__é LAy !/;lé;,(._éj /." J J’f ﬁ( J %{ (iv)
can you detect the type of charge? e L I g ERS 6/‘34 .;al’c.u J. \r)c 3 /5-6 1 (V)
At nlf iy SL S Bt i (vi)

Write any two factors that affect the ability of a Capacitor to Store Charge.
R et e 7 005 ekl 125 W L (Vi
The power ofa Bulb is 125 W, “I'he current flowing through it is 0s5 A. Find its Resistance.

: te Qe S e sl i4 (viii)
Why the Resistance of a Conductor increases with the increase in temperature?

What is the relationship between Pitch and Frequency of Sound? ?9%&%{ il ST (i)
v 0.5m 5595 s 340ms™ Ly Sl o &%5/ o ik p S s 2l (i)
|Calculate the frequency of a sound wave of speed 340 ms ™ and Wavelength 0a5m. @

What is the difference between Loudness and Intensity of Sound? @k@&/&ﬁjﬁ%p_ﬂé“f assy (i)
Why are Coaxial Cables used to transmit electrical signal? ?/%;69“0[ 3 L,FJ . J‘c gﬁ- Y ¥s god J"{lf (iv)

How sound is recorded on a Audio Cassette? W ?“:—Jlg J 5/!@/4]';&“( B (V)
What is meant by Telecommunication? Write its two souxce -u.‘."i Bus nluitestplfa has a8 L (Vi)

What are sources of Background Radiation? @ st LSk x9S (i)
What s the activity of 1:0¢ of Radium in Bq te |/ UsMBq #1Bg A E b /L (viii)

Ly PSSR LRSI L s L E s ()

How Shock Absorbers damp vibration?

With the help of Electroscope how

Define the Principal Focus ofa Co with Ray Diagram.

IRV PR eV N ()
L fenlA (i)

State Len’s Law. _Zuusied (iv)
What is meant by Mutual Induction? L /.L_J/c,f nfr (V)
sty (vi)

What is the Function of Relay?
Define the Electronics and write the name of two Electronics Devices. -’4‘? (t:£ /WJK, /‘gl M EEY }7 it Jfl 4 (vii)
2 e »LJ?_EU (viii

What happens when light passes a Prism?

Write the importance of Lenses.

Write the two uses of Logic Gates.
18 = 2x9 (Part—-1ID e

(4) With the help of Ripple Tank; explain the Reflection of Waves in detail -/ Seoloslf. /‘4_')..57;;}"? sesad VQ'J/ ()
(5) s VB AE Serre st S Tt 15 AP PN 0V AESSE I N LY EL ()

onductor, a current of 1.5A passes through it. How much

By Applying a Potential Difference of 10V across ac
energy would be obtained from the current in 2 minutes?

(4) _%Jn.w/‘féjg&/‘:‘g.éuw Jkﬁ/."g[/@:b":’,yiug?Lﬂzg.)i/g’/gfa_p’f’ld}ﬂ/ (&1
What is meant by Propagation of Sound? Prove by an experiment that sound requires material medium for its
propagation.

NI PRV, BRIt b IS 14 - g N LSS kT ()

only one-eighth the activity of fresh wood.

(5)

Ashes from a Campfire deep in a Cave show Carbon -14 activity of

-éyU,JVLJﬁj;I-éJ}JJUJQJ m‘%lﬁiﬁ) (A

Define Half Life of Radio Active Element. Explain it with .e)‘(’ample. .
s 5-<1L L5100 dB LA R N It JEEAS 1 300 10 wm 2 25 ()

.0x 10 “®Wm™2. What is the Decibel Level for this

How long ago was that Campfire made?

4)
(5)

A normal conversation involves sound intensities of about 3

o e s S 1T

240y

3 Jir

a4/ )iy

54Ul

6/Jr
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Physics LS | L.K.No. 75 Paper Code No. 7475 | oS
Paper - Il ( Objective Type ) Ist - A - Exam 2023 (Group | v /) GA&») I 24
Time Allowed : 15 minutes ~ SSC (Part-11) 215 0 2
Maximum Marks : 12 Session (2019-21) to (2021-23) : 12  4F
BLU P-* [-23
-u.-/e__uctf v 23O L s Se st & sie v L Jip g 3617t LS5 D, C B, AWzl Jisy 1 Ligs
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Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct, fill that circle In front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more clrcles will result In zero mark in that question,
The Index of Refraction depends on : : c‘-t':f{‘f A ¥ AT AN 14
(A) The Focal Length ¢ 747 (B) The Speed of Light ¢ 4 J (% (1)
(C) The Image Distance ¢ dol £ Z-fl (D) The Object Distance 4 .Miﬁ(’: i
Mice can hear frequency upto : g E g T MY F Wzl (2 f
(A) 35000 Hz (B) 3500 Hz (C) 50,000 Hz (D) 1,00,000 Hz E
L ¥ T e W e S i T S @)
If the Mass of the Bob of a Pendulum is increased by a factor of 3, the period of the Pendulum's
motion will
(A) Be increased by a factor of 2 € ooy e (B) Remain the same ¢ ‘{;ﬂ@)&f
(C) Be decreased by a factor of 2 ¢ ilbn ‘f &5 (D) Be decreased k:y@? S r of 4 fé.(urf’ U’:
Coulomb's Law is valid for the Charges which are : (\,2. Yy é.é:. 2 o vy 4 (@)
(A) Moving Point Charges ]Jbe“.nZ_/-f](B) Movinga <L\q&e Charges ]Jb&/t«-.{‘.)ﬂ;/h)’?
(C) Stationary and Point Charges J’ka;'{d( V(D)Statmnq@ Large Size Charges Z/ Ly J v
The presence of a Magnetic Field can be detect : q_Cflg 1] J = § d’ 2 ﬂ}u@p (5)
(A) Small Mass .gj(lg Stationary Positive Charge <« b/gr;%){u( [
(C) Stationary Negative Charge :{@ L (D) Magnetic Compass < Jw’.ﬁf&
An Blctls Corvent In Condisotpe( Mue to fhe flow of el e LS PR Y (6)
(A) Positive Ions /Tz&/{ (B).1 ive Tons 7 zi’g (C) Positive Charges Y.'J,b;%/‘g (D) Free Electrons h;?uu‘t'
How many types of Charges are : Y L (lJldy Zhe i (7)
(A) 2 (B 3 (O 4 (D 5
MRI stands for : P v  MRI| (8)
(A) Magnetic Resonance Imaging Kix.l u%z;...@'? (B) Magnetic Resistance and Current e nguu@g'
(C) Magnetic Resistance Imaginary (¢ ,.a..‘hf%_@? (D) None of these u‘.?@fc:,uful
D EN S § U Te e vidiae ] (9)
From which of the following we can get information almost about everything :
(A) Books (AU (B) Teacher i1 (C) Computer /’.g:;r (D) Internet & F
In Computer Terminology, Information means : P ey St G ),g:r,{ (10)
(A) Any Data QSO"JJ( (B) Raw Data 37§ (C) Processed Data kiiwsy (D) Large Data i)
If X=A.B, then X =1 when : :ﬁJn{'l'dﬂ‘X'?c X=a.8 /i (11)
(A) A and B are '1" B=1,A=1 (B) AorBis'O' B=0} A= 0
(C) A is'0'and B is'l' B=1 s A=0 (D) A is'1'and B is'0' B=0 » A=1
In Nuclide 163 X the number of Protons is : D oot f e 6 X x| (12)
(A 3 (B) 10 (©) 8 (D) 6
--------- YT He




(2019-21) to (2021-23) % 75"~ 3 000 .
Physics ( Subjective ) Ist - A - Exam 2023 (FE) w5 3P
48 /J{ & 145 = SSC (Part - II) (GroupI..r:/)
el 3 e e pnore SIS AN AL a1 (5-8)Ldws et 4 A a3 Adv o 2 AdrFrdio € olis $
wWp-1—2 e brgpg IR lon o2 D $s 3887 g S

Note : It is compulsory to attempt (5 ~5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

I 30 = 2 x15' Make Diagram where necessary. -u:’b.gf{‘f%du/‘ulg (Part 1) Jilo

What is meant by Restoring Force ? : ‘-'4‘-)’/9’ e gtk ) 240
Find the Time Period of a Simple Pendulum 1« 0 m long. -‘&,{(}‘" Lafe¥ H:fq;ulr LU 228 )
¢ e 020 LA S A8 o Ger & A iy

How does the thickness of a lens affect its Focal Length?

Define Power of a Lens. Write its unit. ..é,‘,!d -y g sl A4
What is meant by Near Sightedness ? ?q..:l/([ < de.g; (v)

b S SR K o J¥ &L OR (i)
Draw the symbol eof OR - Gate and also write its Truth Table.
S Ot 28 St IS8 it S PSSt (il
Differentiate between Analogue to Digital Convertor and Digital to Analogue Convertor.

Define Electronics. 2o & U9 win

Define Pitch of Sound. 6\.3{4} JES v 0 34U
Sl e B A AT U5 § H5L (i)

How loudness of Sound depends upon distance frog @a gg Object ?

How Paper Capacitor manufactured ? /07% = e > 4 SnasS” v (i)

PP e £ ¥ 1 A e 1000 BT S el U s o )
-ér}‘ffcs Cul Lolsdnt s { s J SoasigaS I 2 A3 50
The Capacitance of a Parallel Pla} or is 100 YF . If the Potential Difference between
its plates is 50 Volts, find th/g&@vétﬁy of charge stored on each plate.
@ e Ul 223 ol e .—gT)’b P (L/u’:g.f (v)
Why Optical Fibre is moré useful tool for the Communication Process?

What is Electroscope ? e s sr)c";g’ (vi)

What is Computer Hardware ? % Ose Y /’:;5/[,/‘,5{ (vii)

Write down any two damages of Noise Pollution. ..2.‘!6 et ne il £ &:’T 2 (i)

SEey Qg b ot LIS 800 s 1L SOW end oo fE LT S () )
—dts 12 [

Calculate One Month cost of using 50 W Energy Saver for 8 Hours daily in your study

room. Assume that the price of a unit is Rs.12/-
s A w1 ZE s £ KA i 2 iy
Differentiate between Conductor and Insulator with examples.
State Joule's Law and write its Mathematical Form., _,440 gPQL-’J:! é.éf;’Juﬂs' Z Jz i)
O B § WY o wientidss £ s )

Draw the Maximum and Minimum Strength of Magnetic Field by Diagram.

Main Power is always supplied with A.C., why? ?:‘;.Blg(f &p"_}){ wau'u(ﬁ/v@.‘/"‘f 2 s (V)

Define Mutual Induction. -’a}f_y /7 J wﬁc‘:l‘ﬁz’ (vi)

What is meant by Radioactive Tracer ? el e AL (vii)

Complete the Nuclear Reaction : _;é")f S g A wiil)
i H + g H > + + energy

P.T.O




[ LKNo, 75
18 =2x9 (Part Il ) (.0 J?wp" /'“23

(4) = 2+2 Explain two types of Mechanieal Waves, -&.-»u: J (Ul g }1‘!’# () S’JJV
oy 8 %L 12 em e 4 8em i@‘fﬂff)'.’uff ¢ 4cm Jg’:t&ﬁﬁ-ﬁ (o)
‘ ' LW i

8)

An object 4 em high {s placed at a distance of 12¢m from a Convex Lens of

— - -

Focal Length 8 em. Caleulate the position and size of the image.
@3 UL /Al o PIBD LTSl o o a8 B 250 (D 62

What is meant by Electrostatic Induction ? How can you charge a body by
Electrostatic Induction?

—— S

A Bl e N1 S SSL 58 ¢ badbec/ LSl LAA L ()
-4~ 346 ms” 14{ 25
A student clapped his hands near a cliff and heard the Echo after 5 8. What is

)

the distance of the Cliff from the student if the speed of the sound is taken
1,

. —

as 346 ms

/_&
v a “ @)
@ el LG L hs ey Sy %@J) 740
| What is Half Life of an Element? Explain its measurement prg the
help of Radium Decay Graph, by

&
Ll v LI VgD wuw’-“fifxq-v%@ S00MW ¥} off ()
) g@ -1 BOKY ity g ) i

A Power Station generates 500 MW trical Power which is fed
N

to Transmission Line. What

the input voltage is

L 4 —

o 6-—::_);- 202
Fa \
‘ o ‘/CD é/
6/’/ P 9 4 ¢

o . o PRAE §
P aiad - o
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: A

. b’mﬁw.,_.m 7y 94 »:u:‘g; L/.i/ o'y LLJQ‘ s UsHsosl e L1

LS e BN S oI IL P s S I s\l Sy S8R &3 D,C B A 2oLl ¢ 303

Note : Four possible choices A,B,C,D to each question ars given. Which choice is correct , fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark In that question,

(A) 1 ® 2 (€ 3 (D 14

Which is an example of Longitudnal Waves : te Jo Jg.';J}z?g‘ o l/Ulr’
(A) Sound Wave ¢ %35l (B) Light Wave ¢ 24 (C) Radio Wave g3 g4, (D) Water Wave #1206 | (1)
D el Lo o § p v bW s AR Y S ped Al @
The Mass of the bob of a Pendulum is increased by a factor of 3, the period of Pendulum Motion will :
(A) Be increased by a factor of 2 €Z bk 2 (B) Remain the Same fs_gu‘ﬁﬁ/ Jf
(C) Be decreased by a factor of 2 §ilnf & 2 (D) Be decreased by a factor of 4 Filn ( 74
Which of the following is an example of Simple Harmonic Motion: : :‘_Jgfr..{ng&' Jﬁ*o)fc—uﬁdib» (3) !
(A) The Motion of Simple Pendulum /2§ (B) The Motion of Ceiling Fan /7§ &L oy
(C) The spinning of Earth on its Axis cw(/J/Z /giﬁu‘ ch)‘.'.'J i
(D)} A bouncing ball on the floor A;;f GnJ/diy{J/'
: dntlhi o £ DY G o & = Ediowr] (@) '
Which of the following Quantity is not changed during Refractio'@ 1ght/: .g
(A) Its Direction efu! (B) Its Speed trdu! (C)Its Fregqegqi\&}g{w (D) Its Wavelength 25U |
The Electric Current in Conductor is due to the flow K < i s & e/t Yl (5) ,
(A) Positive Ions 7’@;’)& (B) Negative Ions /'Tﬁ‘g Positive Charge Culp#JL (D) Free Electrons Y :
A Positive Flectric Charge : ; @ , : ng.f/‘gl #zIy A (6) 5
(A) Attract other Positive Charge q.b'fuw é@gg/» (B) Repel other positive charge :;.t’f (‘3; P Llosihem i :
(C) Attract Neutral Charge g Zwydixi (D) Repels the Neutral Charge < &/ 8) e bzgdz‘xi i
g W (gt it ;&6 L 30em 4y 4 oe 20em FLoK 4 B ] (7)
A Converging Mirror wi adius of 20 cm creates a real image 30 cm from the mirror.
What is the object distance
(A) 5cm (B) 7+5 cm (C) 15cm (D) 20cm
Which statement is true about the Magnetic Poles : g g b of L 193 S i  (8)
(A) Unlike Poles repel ugl.f (‘3: g okl 2;’...5@ (B) Like Poles Attract qL/u‘-"J’g./,;_gﬂg4._ﬁ
(C) Magnetic Poles do not affect eachother (J]wa’}ul}l{b/u.gﬂgdﬁb (22
(D) A single Magnetic Pole does not exist Ccﬁgﬁ.‘i')‘.e:z;laldgv@?ﬂﬂ "
Isotopes have : C s R 9)
(A) Same number of Protons '/":7:44..@ (B) Different number of Protons ﬁ;,;».iﬁ’
(C) Same number of Neutrons /<%l (D) None of these et
1KB = woeemmmemn D g gl e 2ty ¥ L1 (10)
(A) (Bytes) U11032 (B) (Bytes) ¥4 1036 (C)(Bytes) u£{1048 (D) (Bytes) %} 1024
Thermoionic Emission in Tungston Filament requires : D e Ul LML TP U e K| (11)
(A) 0.3V and 6A (B) 6 V and 0.3A (C)3V and 0.6 A (D) 3V and 3 A
The number of Isotopes of Hydrogen is : e s J ,_ﬁj,f‘( L ‘fﬂfﬁ (12)
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Note : It is compulsory to attempt (5 - 5) parts each from Q.No.2, QNo.3 and Q.No4 and attempt any (02)
questions from PartIl. Write same Questio~ Nwmber and its Part No. as given in the Question Paper.

30 = 2x15 Make Diagram where necessary. Sl oz (Part 1) Jsl.o
How Digital Electronic Devices works ? by ujé/rb’d: YO PO uﬂ}glMS W 24
‘Write symbol and Truth Table of OR gate, ..u..'d J-‘*;’:} 2l & e J JJZT (ii)
What is meant by Logic Functions or Logical Operations? ?.;.,;f/gf =3 ’/'?o{Ué? vl /56_,‘ U (iii)
Define Power of Lens and write its unit. -é,‘!a A ’&'-.’..y} J sy J A (iv)

?;b_fﬂ.,g’ 8 4{ rs u‘jﬁ; U L el (v)
How can the defects of Vision can be corrected by two ways?
e i € 8 gt e S i)
What is meant by Refractive Index of Material ? Write its formula.
e t) S & P L et § il (i)

How the Geophysicists learn about the Internal structure of the Earth?

'Define Focal Length of the Mirror. -é..gj} g i@f! L .y (viii)
| What is meant by Word Processing? @\,ytf = ...ﬁ.v':{ﬁu W) 34
| Differentiate between Primary and Secondary Memory . ?@ J": S Ssbe nl d/l{ i)

e Gust Vs B o U UBL P SetiogGo U & 14556 %&%’ 2S5 b G & FEeT i
. { e 1 L g st Jf 0

Flash of lightning is seen 1.5 seconds earlier thunder. How far away is the cloud

in which the flash has occured ? (Speed of S o 2ms -1 )?

» 0§§¢ e e GBS Bk S (iv)

ield ? ?{.ﬁoﬂiu[ 2P WS ‘ﬁfy v)

What is meant by Audible Frequenc
Why Ultrasound is useful in M

What is the function of cope ? ?q.afrb’u’r ,_.;,F,}gi (vi)
Define Unit of Capacitance. -i._g}.’ J <A Z ‘ff gﬁ‘( {vii)

b A S ZA;AQ o %34 (vii)
Draw the Electric Field Lines of Positive and Negative Charges.
o ABPY 250 V SIL et npsts § hegn 5000 P S AR ) a4
The Resistance of an Electric Bulb is 5000 . Find the Power Consumed by the Bulb when a
Potential Difference of 250 V is applied across its ends. '
Lt Sb ¥ ru’wi&fg § emt § $E i)

Draw Schematic Diagram for measuring emf of the battery.

Write down any two characteristics of Beta Particles. -é{d ayy" » J Jf J }gg% (ili)
Differentiate between Natural and Artificial Radioactivity. ?4;..0'} ‘_.,f e Cf,.éf 1{41‘}’%7 wl J/,i (iv)
State Lenz's Law. gk w8 A )
Wrrite the factors affecting Induced emf. - ’“dJ!fL.bLnJUl}! P B EILS Ayl (vi)
Define Fission Reaction and write down its equation. -é:fa..-pbu(fu’l sl 23;_41}7 J ‘f{ldzu’i (vii)
Define Resistance and its S.I. Unit. ..é..gj/‘? J J){-Jﬁ.@f Lu’l 2! J"".J‘J (viii)

P.T.0
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18 = 2x9 pr,g_.—g,g (Part II) 2.9

@ e W eotn § SR s £ iy (D 5/‘,_}1/:

Explain Refraction through Prism with the help of Diagram.
1M = 108 Bdn % § it et sprpds § 90 MHz Figds BM o ()
5) - o 3x10% ms™ 1 by st
What is the Wavelength of the Radio Waves Transmitted by an FM Station

at 90 MHz where 1M = 106 ; and speed of Radio Wave is 3 ):108 ms~ 1.

(4) 2PN Sy B et st gawé&:’b.?u*é L e () 641

What are the Risks of Information and Communication Technology (ICT)?
Explain any three Risks.
?anw;quvJ;Luf ma:!_;fé:uﬁ 150cm gy = SHC 4! gy = 10 HC Zpdly 2 (o)
(5) e o § i?
Two Point>Charges q; = 10 4C and q, = 5 HC are placed at a distance of

150 cm. What will be the Coulomb's Force between them? Also find the

direction of the force. 3\{)\
@) g LS 5<@5 S ' S () '7/,Jtr
What is an Electric Motor ? Explain the working prmc:p . Motor .

Fterre /i) 1. SA;.J//JI% AP S L (D
(5) Q ¢ e
By applying a Potential DiffereanA& 40V across a conductor, a current of

1.5 A passes through it. uch energy would be obtained from the

current in 2 minutes ?

al—-02-20223
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Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct , fill that circle infront of that question
number. Use marker or pento fill the circles. Cutting or fillingtwo or more circles will result in zero mark in that question.
Refractive Index is equal to : P e Ll J‘QJJS VARSI /.“U’f
ol e - )
ney B =g G erw @ ey W (1)
The Loudness of Sound is most closely related to its : : ‘4bn{¢f A 3% 1 u—";;u p( 2L (2)
Frequency (7% (D) Wavelength  #%) (C) Period 15 (B) Amplitude (4% (A)
The relation between Velocity , Frequency and Wavelength of Wave Is : :‘4‘}%?» Z.E%f: s ﬁff’ «§s J £4) ~g 3)
v=% (D) f=vA (O v=fA (B) A=vf (a)
it e 8L S g IR Z{.}gﬁ,@/;,axffl 4
In Parallel Combination of Capacitors each Capacitor will have same : -3
Charge and Voltage . | » )~ (D) Voltage =i (C) Capacitan - (B) Charge 0/l (A)
s 29 o\ (D) ge sy P ?‘6
For an Ideal Transformer : N\/\O y 2 I J../':.’ T -g (5)
Vs I w 1 &)
Vs VP p) 25 -P (C)_P-_-_P@—V == (A)
Is Ip Vp Is s il Vp Ip
Which of the following is not same as Watt : @} 3 uﬁ" e b oA J.’:’Cw (6)
AN
A AO! 1w
v O Aﬂ&gb\V B) -3 (A) \
o
The formula of Electric Field Intensi & U ¥ ) J.l,..oJ 23 (D)
o F s
E——K— = 2F, (O E =q/F (B) E-qo (A)
Boolean Expression for OR gate is : D Al W:'i J el or (@
X=A+B (D) X= A*B (C) X= A+ B (B) X= A-B (A)
by Iy Ul L1 ) et/ o 81 o a2 (9)
What happens to Atomic Mass of an Element which emits One Alpha Particle
Decreases by 2 ¢ Ltgﬂ(’ 2 (B) Decreases by 4 ¢ ngx{ 4 (A)
Increases by 1 ¥ 2k »%1 (D) Decreases by 1 € Lbn ﬁ, 1 (Q)
bl P g A Lt Lscady) $kl ST (10)
Isotopes are Atoms of same element with different
Atomic Mass JULt (B) Atomic Number AL a)
Number of Electron 5 ¢3¢ (D) Number of Protons i § 9:"3{ ©
gl unt 8§ S 2 R 2 ()
The Particles emitted from a Hot Cathode Surface are called
Electrons 73291 (D) Protons 9:"’{ (C) Negative Ions 7"’712'-6 (B) Positive Ions '/",7:':/'{\ (A)
The S.I Unit of Amplitude is : Do ey SLE G (12)
Joule (D) m (C) Hz (B) Sec (A)
--------- AT He e
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=il 3 céfa.gﬂ(»ﬁ.f;‘)ﬂb/(/ =221 (5-8) v et 8 A 513 Ay ¢ 2 AP ¢ =l
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Note : It is compulsory to attempt (5--5) parts each from Q.No. 2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

30 = 2x15

Define Specific Resistance. Also write its formula. -é,‘!d S U K P Ay oty 3 Shasasgis (i) 2/1)':‘::
Lk s § o e § i § srpe £ oy (i)

Write equation of the Equivalent Resistance of a Series Combination of Resistors and draw its

Make Diagram where necessary. -g},'fbsffxdu/‘ulg (Part 1) L)"»‘"

! Circuit Diagram.

! Differentiate between Ohmic and Non-Ohmic Conductors. -'éuw/' Wt J}-Gf_ﬂmut sl Layl (iii)

Differentiate between Step Up and Step Down Transformer. -Z_{UL/. I A /JW'U‘uil.’l‘.r}' 2! .’J%é‘ (iv)
_'4!625.) w Libnf Gy Beln dni Jf 4 M et (v)

How the Magnetic Force acting on a Current Carrying Wire can be increased ? Write two methods.

T - 1 e o o

Write two factors on which Induced e.m.f. depends. _'a/l#’}' € RIS Ayl g 7 e (i)
What is meant by Nuclear Transmutation ? Write example also. -ZU&J&&;.)’/L_{/ & ‘f? ﬂ}}& (vii)
Write two characteristics of Alpha Particles. -5 f c,‘t..oy" wd )b?/‘b_wl (viii)
Differentiate between Loudness and Intensity of Sound. i%/" DU it T s S350 () 3400
o 1 LT 6 o 5 S it G

%045 m 7% i 340 ms £ T ek G5 S pakil (i)

Calculate the Frequency of Sound Wave when the Speed of 15340 ms_ + and Wavelength 0.5 m.
<V

How can we produce Electric Charge ? (< ?ujéﬂ,g;.g s b/'lf..f/'gl 7 (iii)

- ¥ o § i e Lotn e 350 (i)
Derive the formula for the Equivalent Capaﬁt\/@\/}e for a Parallel Combination of a number of
<

nsulator ? ?ung/ K15 4()/,‘4;*" 2! jflf(? (v)
ite name of its main parts. ~$C}t Ly (7! Py ?‘¢:l/lf & /'4_-;{ (vi)
-éb&/‘? ?c‘_(}ﬂéf \_)Ja:wd\\)i' F-3 L g}-‘-&/g/g (vii)

Briefly describe the Transmission through Fax Machine.

Capacitors.

What is meant by Comput

B R T TS

Write down two uses of Computer in Daily Life. -2.{{/“ Je1 g £ /’g_-;r S &C/’ 8273, (Vi) !
! What is meant by Electromagnetic Waves ? Give example. St 9:1/([ & )4;..@-5‘,/‘?! (i) 4/,der

‘-ngh’ Az J 3.« 0-4m EE—'.’;’; » 4 Hz ﬁ;g/’ J 41 én(}/frgu@’ (i) 1
A Wave move on a Slinky with frequency of 4 Hz and Wavelength of 0.4 m.What is the

Speed of the Wave ?
: Differentiate between Terrestrial and Refracting Telescope . e J/ VoL ?ﬁff B L (iii)
W £ Sl S g b el iedy & (iv)

-

How some animals are able to see objects clearly around them ?
S ud Ut L LU S ALl L B ke )

In large shoping centres, Convex Mirrors are used for security purposes, why ?

For what purpose NOT Gate is used ? e tn JW' 2L k"".";// .‘/f.bt (vi)
& e ot St b s I e s i)
Draw the Symbol Diagram of NAND Gate and write its Boolean Expression.
. ik .th('cf-:‘)” ¥ S i o wh B i)
!

| Draw Voltage Time Graph of Analogue Signal produced by Microphone.

P.T.O
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18 = 2x9

(Part Il) (2247

Buf-4t-322 |

Z,}J/JA 4 b Jf&/bgﬂf}&@.ﬂéz ¥ &px_ﬁ,&-o ok chwtb &b J rl/’y} U 5/&1,,-'
@) =1+2+1 spEfppdler § vit 7 o NS

Explain with the help of Diagram that how a Current Carrying Conductor placed in

Magnetic Field experiences a force and how can we determine the direction of Force ?
(5) Z e YU LA 250V S 2 S8 KW sl A 6 100W T ()

J%/ J u"@l e s Z Je (b) oS il & A u*l,t'l 7 (a)
A 100 W Lamp Bdlb and a 4 KW Water Heater are cbnnected toa 250V Supply.

Calculate : (a) The Current which flows in each appliance. |
!
(b) The Resistance of each appliance when in use. :

@ el £ b c ook elB n LLE L1CT. (W) 6
What are the two Risks of LC.T. for the Society ? How caxb@yrotect :
ourselves from them? @

6) SL3-a2sec ol ST Ll o, d %S)JHVW FFesgdidi (L)
® o B ol ¥ J2f enp i 1531ms” LSEL L 2 8y £ oS tiolf
A ship sends out Ultrasounds that ret @m the Seabed and is detected
after 3-42sec. If the speed of U @ 1

d through Seawater is 1531 ms”

’

what is the Distance of the

M\_rz—:ﬁ i L ,'Ljfl;{ sl &b rl/.l.,l;‘ s JIe q__;l/gf c.v:cu..c’l.fcfg (W) 74
4) =1+3 ‘2:6
What is meant by Compound Microscope ? Draw its Ray Diagram and write

Magnification of a Compound Microscope.

(5) g =10.0ms 2 & gk ) i bade ¥ hlor £ 30U 2 o (L)
Find the Time Period and Frequency of a Simple Pendulum 1:0m long at a

location where g = 10:-0ms’ . !

......... o —
¥y ~on — e ™

"
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S e SIS w3 lh»é:vlﬁuuc.uﬁu:ﬂ)é{.:é.‘.l/LJ'/ﬁ{QVQb?-ujéé.) D,C,B,A :—&’ﬁ.’»@k&dlr/: TS
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result In zero mark in that question.

In a Vacuum, all Electromagnetic Waves have the same : :(f AT A a5 BsKn g 5K (U UL ks 14

Wavelength A‘%‘: (D) Amplitude 3;5&' (C) Frequency u”;f/ (B) Speed iy (A) (1)
- WS £

PO Sy keSO Gl (D)

Which of these Waves consist of Compression and Rarefaction

X - rays '{/U"’r’ (D) Television Waves ).z)c}‘{:‘f (C) Sound Waves J#s%35l- (B) Radio Waves Jisgi. (A)
Radius of Curvature is of the Focal Length : P ebre EQJ! /T AL (3)
Three Times /¢ (D) Equal 4« (C) Double % (B) Half o id (A)
i § P ol el Lo LS N g 2 L 2mm S R e L (8)
Two Small Charged Spheres are separated by 2 mm . Which of the following would produce the

greatest attractive force :
-1q and -4q -4q » -1q (B) +1q and +4q inl +1q (A)

#2qand -2q -2qu +2q (D) +2q and +M§\<>+zq A +2q (O
' b de DL SS9 e 12 2B INE {3 e S (5)

In Parallel Combination of Capacitors , each Cap or will have same :
I — & (D) Cap‘\éﬁé\/ Z¥ () Charge G (B) Voltage & (A) |
e I g ut§ Gl el s § ud Lene Bie 6

What happens to the Intensity or tl{ ightness of the Lamps connected in Series as more and
N

Decreases ‘;.'-Jﬂu{ (B) Increases c‘-b«.?w (A)

not be Predicted §_Jf’ t& (D) Remains the Same t“{u.'.‘ﬁ)&f ©
QWL IE £ P er § BLALS dygit 2 2 (7)

The Direction of Induced emf in a Circuit is in accordance with Conservation of :

Energy £ /(D) Momentum &£ (¥ (C) Charge L G (B) Mass £ UL (A)

The Logical Operation performed by this Gate is: A — g et cﬁ{"-‘; e oL 1 (8)
B —

more lamps are added

NOR .t (D) OR .7 (C) NAND % (B) AND X% (A)
et/ f G P gt crO! (9)

The brightness of the Spot on CRO Flourescent Screen is controlled by
Cathode 3¢ (D) Plates u—%ﬁ (C) Negative Potential of Grid J’% d/ g3/ (B) Anode jx! (A)

Which of these is not a Web Browser : ! & u:‘.'/ IRy U e (10)
Safari /- (D) Mozilla Fire Fox (/#76i)r (C) YouTube #f(B) Chrome ./ (A)
In Beta Decay, Nuclean Number changes by : - - g_&wd‘. ¥ e /:"u’lf,é wi £ Lk (11)

Increases by 4 < Ftbox4 (B) Decreases by 4 q_t'?n( 4 (A)
Decreases by 2 :‘—Hgﬂ{ 2 (D) Remains Unchanged C'nu.“'{j_i (©)

The Half Life of Radium-226 is : D ey 26-¢41 (12)
(Years) Ji 1650 (D) ( Years) JL-1640 (C) (Years ) Ji- 1630 (B) (Years) Ji- 1620 (A)
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Ul ;JI:.u:pw.%:uc)}iawﬁ?&lz' (5-5)CJvz <ok 4 A 3 Ay« 2 Ao § = lia 3
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

I 30 = 2x15 I Make Diagram where necessary. -g{hgﬁ}’xd»/’ulﬁ (Part 1) Jslo
Write two characteristics of Electric Lines of Force. -é.//’ o_L.a:" 2 J w}JTﬂJf'g! (i) 2/:Ufr
-a!% L atifo » L Joi =sus £ F (i)

Write the names of two Devices for the Safe use of Electricity.

S eloned § Gaysd Suca IS 4 ok e/ (i)

How Magnetic Force on Current Carrying Wire can by increased ?

What is meant by Background Radiation ? ?9.;1/9":.‘-}416,5;}5:/..5 (iv)
ool § Sd Bue&ad b S L i, 2y Lie u§ Lf )
Demonstrate by an experiment that a Magnetic Field produced arround a Straight Current

Carrying Conductor.

Differentiate between Step- Up and Step - Down Transformer. -z*_iugo) o /JW.‘/‘U;UY;’ 29 .rf.r? (vi)

Define Kilowatt Hour and prove that :  1kWh = 3.6 MJ 2 S é.y({m 27§ siend i)
Define Nuclear Transmutation with example. o ﬁ'_y/"‘ d/ Wl -x (viii)

How can some Singers shatter a glass by their sound ? fura /‘f@ L L}JK < T g s e (i) 3/ )y
e bt 4 dl@,‘l ¢ S T ?g.;l/yfa,‘ﬂ.ﬁu (i)
What is meant by Loudness ? On what factors does the ss of Sound depend?
Define Intensity of Sound and write its unit. ﬁ;S &y 6 Za/ § g § L i
s m?(.:;‘!zl}.f/’?:{as z (30:...,1,&&-‘.9 (iv)
?a light bulb at a distance of 30 cm from it?
e ods U P U sl U GH U s A (V)
gy is stored in a capacitor ?
a8 Jien £ 24l LY Sl sl I 2 (vi)
Draw Electric Field Lines for Two Opposite and Equal Point Charges.
St s eI s s B sl igs gha (i)

Where are Radio Waves and Micro Waves used ? Give examples.

How much is the strength of Electric 1§1

Where and in which form th

What is meant by Information and Communication Technology?  fels V= &)b»?gﬁ‘g! »l ‘f:/lwl (viii)
Write down two characteristics of Simple Harmonic Motion. _a:’!{/" ayﬁ » J Jr..fr‘;&f (i) 4/{Ulr
e QLG £ 3200 £ fhsn B3 S Zeolos (i)

How Damping Progressively reduces the Amplitude of Oscillation ?

Define Spring Constant. Write its formula. ..Zd Urb K1 -'4-." i/ J 2 L (i)
Define Principal Axis and Focal Length. P S ERIIT S s 5 Sy (V)
Differentiate between Concave Mirror and Convex Mirror. ?‘LJ/; lf Y ¥l J/J-r/ 9t //;f( {v)

& Jas 6 o et s $u § oL AND (vi)
Draw a Symbolic Diagram of AND gate and write its Truth Table.

& w0 £ SPSE o, § SRS il
Write down two benefits of using Digital Electronics over Analogue Electronics.
NAND gate is the reciprocal of AND gate . Explain. -é&l}u-‘c.‘)f ¥ ot oSk (viil)

P.T.O
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u’;i i Q/ /] ufc_‘ﬁf /.4)/ (...Mé/ e dJ.J M " 4 i._&b: PN J ‘ftb ) 5/:‘1)(,"

@) =1+2+1 Sl er § Ld A Ld/fb)gf(
Explain with the help of Diagram that how a Current Carrying Conductor placed in

Magnetic Field experiences a force and how can we determine the direction of Force ?
J Ll uaS v SIML szl sre 3 s i L 12kN 4 6 kN (L)
6) e et e fu g (b) Sug § 2s () e i § uneds
Two Resistances of 6 k.n and 12kn are connected in Parallel. A 6 V battery is
connected across its ends. Find the value of the following quantities.
(a) Equivalent Resistance of the Parallel Combination.,
(b) Current Passing through each of the Resistances,
@ =3+1 -ZeladUleJe \BEn 25 - a3 § Hen g S i AJET (U 64
Optical Fibres are used as Channel for Transmission of égnals.

Explain it with Diagram.

o U S K et S r S 2L S A ﬁ\ono 6 wWm 2 ¢ B (o
©) il L 3L 100 dB LA

A Normal Conversation involves Sound-In¢
What is the Decibel Level for this nxty?What is the Intensity of the

Sound for 100 dB ?

S U ins i @@J{ SEeb s LJo s wf § ek G 7
@ =1+2+1 ANV GRSV P P
Define Simple Harmonic Motion and prove with example that Mass attached
to Spring shows Simple Harmonic Motion. Also draw its Diagram.
& lz ¢ il 12em & 8cm 3@;]:’ Ju) ﬁ_’u{/_% 4 cm Jlf',l Ju’ r)._g ()
(5) b oo oy § B
An Object 4cm high is placed at a distance of 12cm from a Convex Lens of

Focal Length 8 cm. Calculate the position and size of the Image.

o —— o o 2 i

T T - —-— " " - -

" -
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Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct , fill that circle in front of that question

e O A e LS FenZ SIrsin 1Ay

In Total Internal Reflection, entire light is reflected back into : Q O ’
Some other Medium (% (f4» G/))tf’ (B) @ry\e Medium & firid (A)

The number of Vibrations of a Vibrating Body in one second is called (1)
Velocity (¥ (D) Frequex;cy 465 () Amplitude 3204 (B) Time Period  Laft (A)

Sound Travels from its source to your ear by : § i o (2 Ly 231 (2)
Vibration in Wire or Strings < AN S 6l § st (B) Changesin Air Pressure c_,,”d/gi K3 i (A)
Infrared Waves </ J s s l}" (D) Electromaghetic Waves oha J /’{’b@g}f.g‘ (©)

f.&w ewnlnd (R) }JfJTuiéJ ol (f) 1@5}/:' (3)

The correct relation between the Focal Length (f) and Radius of Curvature (R) is :
f= R/3 (D) f=R/2 (C £=2R (B) f=R (A)
0T Rty o oty Sl B s iSaliay 10 S s8] (9)

Denser Medium ﬂfg«.‘,?/ (D) Medium with smaller l}gﬁaéh&&?ndex e ﬁ%}Li:JF}lﬁ{}JL;‘: «©
The Coulomb's Law is valid for charges which arﬁt : v Coge Uiy I ¥
d Point Charges &7 puslyz #2 /o/7 (A)

ing and Big Charges 4‘:( ZJ?L‘/’W..%LML/&’/ (B)
nd Large Size Charges 2{.‘.( 2l F et 1 Ju (D)

Stationary and Point Charges z{:’ Z/,l'o.‘.a'—t;'d( v

©)

sq&éﬁ&‘y
W\

360 MJ (D) 36 MJ (Q) Béxx 105] (B) 36 x 105] (A) : 1KWh = —— (6)
QY UL 0i5 Sy e § AL It | (D)
The direction of Induced e.m.f. in a Circuit is in accordance with the law of Conservation of :
Mass ILyds £ R § U\ (B) Energy  JbLuwds £ § 8 (A)

Momentum dWLU)G‘Lu’t’/}”/ J (“-'”/ (D) Charge JdeLluis £ ﬁu‘f"/ J & (O)
x = A+B is Boolean Expression for : ’ :.;.'...-/Uoc)i’i x = A+B

NOT Gate =/t (D) NAND Gate <J%s (C) NOR Gate <.J7t(B) OR Gate .07 (A)

®)

s e tbd ety W LLLS it S i LTI 2k § L iy
The set of instructions and rules to design and use information system is called :

Procedure /3% (D) People .11 (C) Data k3 (B) Hardware 7sj (A)

©)

What is the power rating of a lamp connected to a 12V source when it carries 2+« 5 A current :

30W (D) 25W (O 20W (B) 14:5W (A):

Atomic Mass Number (A) is equgl to number of : t et 2l (A) /:‘.d' WLt (10)
Electrons [.J‘A;"Jul/'g' (D) Neutron L wfuiié (C) Nucleons £ s S ¥ (B) Protons Ll J sy (A)
Unit of Intensity Level of Sound is : Doy Jad S Ll (11)
Hetz 3 (D) me' ) 260X (©QdB Sl @ w2 Kdden (A)
Y .{,_‘}/ 2.5A V! A Jn !;( O) J 4 J %.ﬁ Lsreyr 12V (12)

T . . [T [ .,
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

30 = 2x15 {Make Diagram where necessary. -u,"l-f.ffndu}ubd (Part 1) sl

1Define Time Period and Frequency. ~E’.)~.:.d:ej:" J o"”:{/ 2! éﬁ(ft (i) Zﬁ}dlr’
{ EeP tr S e 00am S5 a8 M) 000 Gty Sibu G)

{Wave moves on a Slinky with frequency of 4 Hz and Wavelength of 0+4 m. What is the speed of

the Wave?

What is meant by Compression and Rarefaction? ?c‘.'..)l/l! G Sy b oy (i)
! Define Pitch and Quality of Sound. -éu_fq')/.’. J djbf 2! 6 o( £3L (iv)
!What is the Audible Frequency Range for Human Ear? e S5HES  Siberes L2 g (v)
What is meant by Critical Angle? ?c‘.,)’/(f = K Uy s (vi)
{Define Snell's Law and write its formula. e i 1 ) & uIv L Yo (vii)
Differentiate between Concave Mirror and Convex Mirror. -z{ug J/’ LJ:J“)AL).&JT D8 e 5SS (vili)
Define Electromotive Force. Write its formula. -ﬂg Ui § u’l-z-:.’q’j/"’. Ju.ﬂvﬁ\}éjtj\}ﬂj\)f@’ {i) 3/{)’;’
{Write the names of two Non - Ohmic Materials. ~é‘;‘c}t & uf/"-fu@ﬂc)t 2 (i)
{State Joule's Law. _éuy. U6 ¥ Jz (i)
What is M.R.L? fe ' MR.L (iv)
What is Transformer? © e, L (v).
Write down Truth Table and Circuit Diagram of AND Gate. & &_15-.‘/(/ il J‘:f:] J h‘,;"}gf (vi)

!Define Analogue Quantities with example. /\Qéfc_)dl?\..e}? J u:/fﬁ’-.flﬂaf (vii)

What are Logic Operations ? Write their names. < %% -&?((I‘t[.u' cuy dy{TJU (wviii)
Define Electric Potential and write its formula. @nﬁ §U1 é..e/‘? J‘}‘Lﬁj‘,_'» SRS (i) 4;{)1:/
| @%5 -a;eﬂayﬁ 5§ 32e £ s i)
Write the two characteristics of Capacitors connected”in Parallel Combination.

Define Electric Field. <>‘ g § B i
What is meant by Electronic Mail ? Writ o advantages. -’4?6 £19 3 Ly ?‘L)V/'L:’/ & vaﬂ}gf (iv)
What are the Browsers ? Suien y/ 133z (V)
_zgﬂrté GIAT L Pasgy pedE g § AT (i)

ames of the Isotopes of Hydrogen.

1Define Isotopes. Also write the

What are the Tracers ? Write their two uses. el Lol e ytin y/ JR7 (vii)

Define Half Life. ' gy oy (i)
18=2x9 (Part Il') m2

) _E e SIS SN EE e B e 5 () 54

State the characteristic of sound " Loudness ". Also describe the factors on which it depends.
o § iy g T e £ 0 imz ca e 008N S O vben £ 2k diyeEfl s ()
1(5) &

The force of repulsion between two identical positive charges is 0+8 N, when the charges are

e R

0+1m apart. Find the value of each charge.
1) el (e OLd e sl dud SeKae dblriigd s £ XUy € ety 2 KUy (D) 640
! What is Solenoid ? Explain the Magnetic Field and direction of Magnetic Field produced in the

. Solenoid. )

6) sl S e ME S LG § P 0 S G L neyy20em e 2l (L)

! An object and its image in a concave mirror are of the same height, yet inverted, when the

{ o©object is 20 em from the mirror. What is the Focal Length of the Mirror?

e ~Fokeber el § 0K G  -2E G b JE (W 740
Define Natural Radioactivity. Describe three properties of Beta Particle.

5) BT w2 et g 220 125 A et e 10V FHPHIPL L (D
By applying a potential difference of 10 V across a conductor, a current of 1-5 A passes

through it. How much energy would be obtained from the current in 2 minutes?
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Value of Intensity for faintest Audible Sound is : D e Jﬂ ,_.;..-u.b\g{ I Tes e G A1 Ay
wwn? 0 10%wn! © 10P%wWm? @) 10 2wm? (a) )
S.1. Unit of Capacitance is : P e S (M\M (2)
‘ Volt &by (D) Farad 3¢ (C) Ampere  ,igey) (B) Ohm (i (A)
Electric Power is defined as : 3 q-@luf LA P g /J&J}gl (3)
PR (D) QV (© cv (B) IR (A)
Release of Energy by the Sun is due to : . c‘.ax o A a T (4)
Burning of Gases c.;sLQiL/:r (B} Nuclear Fissi A_"_.Aﬁf}"& (A)
_ Chemical Reaction & /il 415 e (D) Nuc:lear/fix\gioQ Vsl (©)
ICT stands for Ow e W ICT. ()
International Compute%ﬁ?}pﬁogy &:‘b?/’,g_‘;fd’}‘;.‘;l (A)
Information an @nication Technology (,?.,‘u?u"-‘gifjglﬁjuh {B)
Indian Computer Technology L;:’U?/’y_‘;fu_‘}l (D) In ion and Computer Technology &:‘t?ﬁ_{)ew“’-‘/uﬂ (©) :
If X=A+B then'X"' is '1' when OQQ : ﬁd;{'l'd:f'X'?X=A-Bﬁ (6)
A=1,B=0 (D)A(§§$§=1(C)A=0,B=0(B)A=1,B=1(A) :
: N AR SRS S
The presence of Magneti d can be detected by a : : c‘"_CCbgLﬁ =K J)ﬁr‘ JpseLs (7)
Stationary Positive Charge « Z,J_ngfugjufl/ (B) Small Mass = u’t.j_.)‘,” (A)
Magnetic Compass —n di:..@.g (D) Stationary Negative Charge « Lj_lg)‘s"gur + (©)
QW QS e & oS Ly ina bt zebn S X ®)
The property of a substance , which offers opposition to the flow of current through it is called
Power s (D) Electromotive Force a9 (C) Resistance % (B) Capacitance u"fﬁ! (A)
B G end clbuinyle tyt Sl Jr 5 204l Sme 5 S el 10C i (9)
5 Joules of work is needed to shift 10 C of charge from one place to another, the Potential Difference
between the places is : 5v (D) 0.5 vV (© 10V (B 2V (A
Focal Length for Diverging Lens is : P dn EQJ/:’ LL A Ludn (10)
+2 (D) Positive sy (C) Zero j (B) Negative #F (A) “
The loudness of a sound is most closely related to its : D oetbn e wli € JE35l S s (11)
Amplitude ¢ 5% (D) Wavelength fﬁ_J)g_, (C) Period i/ (B) Frequency 4 u”:g/’ (a)
ta¥ oy § ol L/ Y v 8§ b’ A a2)

If the Mass of the Bob of a Pendulum is increased by a factor of 3, the period of the Pendulum's

Motion will

Remains same b’gguﬁ?} J/cj:( (B) Be increased by a factor of 2 ¥ box 5 (A)

Be decreased by a factor of 4 bfz_lgn( ¢k (D) Be decreased by a factor of 2 (Z_lgn{bc: (Q)
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

30 = ZXISI l&ke Diagram where necessary. -u__",l'/.u‘{fnduﬁu({z (Part 1) \J”ﬂ"

Define Wave Motion. B S g ) 240y
Prove that : v = f) : gj_/::f.b (ii)
Define Electromagnetic Waves. -é..,y/"“ J)y_;u,%vq‘;@l (iii)

?g}n&f be § b Lo 2wk &S o e § EL (v
Write the formula for Speed of Sound and what is the Speed of Sound in Air ?

!What is meant by Quality of Sound? fell < S s (v)
Describe the conditions for Total Internal Reflection. ik g JWJJ:}J) 65 (vi)
tState the Laws of Refraction. -aj{uy. L L gfg/’/ (vii)
Define the following terms applied to a Lens: -é\..gff J < be Jj@/} sl n et /f {viii)

Optical Centre UST (B) Principal Axis oS3l Jomi i (A)
SN B M g Ut () 3

{Define the term " Potential Difference" . Also write its S.I. Unit.
Describe Ohm Law. Also write its formula. -’{{;f ¥ Jf..z:‘:(_')_{_a A (i)
| FeEwf § B i)

"Lu_’/[/’}‘"d: /J&u,(;’?l i un "Jl" A § e ..‘ -
{Define Electric Power. If you know the values of Voltage and Curregtﬁ@\\‘@m you find Electric Power ?

State Lenz's Law. 2 -’cfgui_/. I ¥ A (iv)
‘ gk e € AL @ e § WS S L FitissS )
(State Right Hand Grip Rule to find the direction of m tield around current carrying Conductor,

{Write the Truth Table of AND Operation. 0 e d T AND (vi)

{Which are Three Universal Logic Gates?Write @ names. -’:f'_r_./f.'rbﬁu’ £ ura.u/u'?:.éu gk (vii)
{Draw the Circuit Diagram of NOT Gate | ek e fuses § s det wiii)
{Define Electrostatic Induction. -'4’0‘-—;"/;; J(.J":';'b‘hg’:%‘h“Jj&f" (i) 4[‘1}'}’
L Lty (i)

1What is meant by Point Charge?

{Electric Field Intensity is a Quantity , why ? ¢ U ‘Qllﬁ’/b-() bgw\wd,ﬁ\ (ii)

{What is Telecommunication ? T I 0SS (A (iv)

{What is meant by Internet? Sty Ve L2 (v)

(For what purpose Browsers are used ? ?ujZ_T rb’ L/ Jsiale (vi)

(What is meant by Background Radiations? fesly Ve '/'?-ldéjﬁil/i.g (vii)

{Describe Medical Treatment of Radioisotopes. Sl Ji § STy hs J/‘Z/’;ﬁfg (viii)

{1 18=2x9 (Part 1l ) roe

{

{a) ol S etn g WS MK S A 540
‘ * . /

Define Loudness. On which factors, does the loudness of sound depends ? Explain.

(5)  ~em b 106 x 10770 C g s e gt 28 L1 6 ¥ iz £ 100 4C b ¥ ikl 4 b S (L)

3 The charge of how many negatively charged particles would be equal to 100 YC?Assume charge

on one negatively charged particle is equal to 1+6 x10 19C .

i) S 2581 5 A I e Sk () 64
. Differentiate between Analogue and Digital Electronics and give examples.
i i (G d6em 8IS e 6Dy S G o Te Pemey £ Job £ 66 em bt 5 ()
©) A
:‘ A Convex Mirror is used to reflect light from an object placed 66 cm infront of the mirror.
The Focal Length of the Mirror is 46 cm. Find the location of the iinage. :
(a) e Ja S LG sy W2 F § A 7 A
i Define Nuclear Transmutation and write general equations for Alpha,Beta and Gamma Decay.
16) AT R e 2e B i) 145 A et Ju e 10V ABPH Sk £ P (L)
i By applying a Potential Difference of 10 V across a conductor, a current of 1+5A passes

through it. How much energy would be obtained from the. current in 2 minutes?
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Setpns 33 § Al s U il 30 i, BIL S0 1| 14

By the end of two half lives, how many number of atoms of a Radioactive element remain undecayed : 1)
1 3 1
7 @ 2 © 1 ® 3 o

In Computer Terminology Information means : e 4 S 2 Gt ted (2)

Large Data 5wl (D) Processed Data &} izy (C) Raw Data L 76 (B) Any Data &} (*d/ (A)

et ek e b S F S Kbl (3)

The process by which Electrons are emitted by a hot metal surface is known as :

Conduction % (D) Evaporation sz:;-:l (C) Boiling 13 (B) Thermionis&n&kﬂon ks (A)

The presence of Magnetic Field can be detected by a : ] q.‘\ﬁ ﬁ( rid J L TP < 1 W 4)
Magnetic Compass = J%-@p (B) Small M e % (A)

2 )
Stationary Negative Charge < (yll"ﬁ'gdl (D) Stati/o’g% sifive Charge < (ulp thif u/ L (©

The Particles emitted from a hot Cathode Surface are calledWLM Ul = c’ e 5:5‘-?'/ 2 }?Jg <!l (5)
Negative Tons ;7 yi8a (D) Protons “shy sitive Tons 397 4% 5 (B) Electrons /91 (A)
M} Aol 7 L s iy U 2l A =2l (6)

mple Electric Circuit, we double the :

When we double the voltage i

Resistance _uitw;, (D) and B U/ B A (C) Power s} (B) Current 2/ (A)

g

An Electric Current in Com)ctors is due to the Flow of : ! e g e £ wif SO TS )
Free Electrons ?)/'.d')UT(D) Positive Charge b/kz&/ﬂg (C) Negative lon o I'#G (B) Positive Ion J 7:_&}{ (A)

Charge of how many Electrons equal to One Coulomb : @ <&tbw sl £ Lol o & Zy/,(,n()f S (8)
6:25 x 101 (D) 6+25 x 10 (O 6+67 x 10!
e dT et Eb o/l 2 Uit 2 Uf) £ cadt (9)
For people in their early twenties with normal vision, the near point is located from eye about :
(cm) 750 (D) (em) 40 (O (ecm) 725 (B) (em) 20 a
Ot s St Simar gim £ ASTAEL | (10)

Which of the following quantity is not changed during Refraction of Light
Its Wavelength #2401 (D) Its Frequency *£/5U1 (C) Its Speed iz fu/! (B) Its Direction =rfut (A)

. (B) 6-67x1011 (A)

What is the intensity in dB of the faintest Audible Sound : q_.\;‘/vc Juod gl uﬁ'»ﬂi‘ai J JFJT(?JQ;:IVJF (11)
30dB (D) 20dB (C) 10dB (B) 0dB (A)

ctaded Lo S P apoletdine | (12)

Which of the following is a method of Energy Transfer :

All these (. (D) Wavemotion r#» (C) Radiation ¢, (B) Conduction f i (A)
o P
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Note : It is compulsery to attempt (5-5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from PartII. Write same Question Number and its Part No. as given in the Question Paper.

| 30 = 2x15 l Make Diagram where necessary. -u:’ho""}’ﬂdu/'ulg (Part 1) J:L"

What is meant by Restoring Force? ‘.“4.:'/&;( e ikt (i) 2/,0')’
Write the types of Mechanical Waves. -u:"?l:'! oy Jensa (il)
Define Diffraction of Waves, ..gqji g P s (iii)
What is meant by Audible Frequency Range? Tq..)f/g.:. 21940 u( u’k.rg/ g e S (iv)
Write any two uses of Ultrasound. _?:(I et 59 c..Jf L P (v)
What is meant by Quality of Sound? : ?f—)lfg e 3§ s {vi)
Define Refractive Index. ) J ousakl A, (vii)
Define Power of Lens. g AT sk (viii)
Define Electrostatic Induction. -'E:(...g/J J u.:.ﬁ;\._ﬁ,_ﬁ.... A (i) 3/:‘1)'{
What is the unit of Capacitance ? Define it. Al el oy Kol aanyS (i)
Prove that P = IR P= IR ek (i)

What is meant by Earth Wire? = sio e ) (iv)

35 Sy A (v)

e Ol b
Differentiate between Electronic Current and Conventional Current.

State the Fleming's Left Hand Rule. LUk ¥ iw_"; ¥ Laagli (vi)

What is the function of Split Rings in D.C. Motor? Tq_(ﬂf 4 ;J-k o 22D.C. (vii)
How many Coils are used in Transformer ? Write their names @ﬁul Tu’LbéJWU’fc‘f L (viii)
What is meant by Background Radiation? % Seslrlf < o ldi/}fl)’ug W 4-4J)
Write two common Radiation Hazards. 45 Bl n £ ISk (i)
.-zf,/w § ol 2B ol FotET § B iy

Q lpha Particles and Gamma Rays.
oNits Truth Table. L& FEas feut | ¥ LSl (iv)

Compare the Ionization and Penetrating
What is the function of NOT Gate?

Write the name of components of House Safety Alarm. -é:![%tﬁ gl g Lué.ur/uv&f ¥ /’ v)
How does the Electron Beam«eflected by Electric Field? $‘adncf u&.(.s.li"J ;,/‘01 L3 L .21;‘./}9 (vi)
Define Information and Communication Technology. -é..al/" J o _,.\Lx.iuua._nf._u ! gf‘:}b;f (vii)

How are the messages sent and received by a Fax Machine? ?gﬂz_.lpldr’: ! !_fuLLwL)Jf u"‘ J‘a..f I {viii}
(Partil) r».a"
@) el Frdrq i S S vt AU s U S et m S T K () 54

Define Simple Harmonic Motion (SHM) and prove that Motion of Ball in Ball and Bowl

System is Simple Harmonic Motion (SHM ).

6) ez o FpSGlatmy b6l 2em e e 8em S S P A caemn § AP O
it Nl e SB

An Object 4 cm high is placed at a distance of 12.cm from a Convex Lens of Focal Length 8 cm.

Calculate the position and size of the image. Also state the nature of the image.

@ e 0 S I i siid g e U () 64

Define Resistance and explain the factors affecting Resistance in detail.

ar § U 7 iteH sl L& 26L 150em gy = 5HC i qq = 10HC el » ()

©) g

Two point charges q; = 10 HC and g, = 5YCare placed at a distance of 150 cm. What will be

the Coulomb's Force between them ? Also find the direction of the Force.

@) el § B e Ko paa g S | S 70
What is Electron Gun? Describe the process of Thermionic Emission,
(5) ¥ (Lo ¢ i S 60- I L L6 s 525 S § 60- AL ()

Cobalt-60 is a Radioactive Element with half -life of 5 25 years. What fraction of the original ]
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gl

In a Vacuum, all Electromagnetic Waves have the same : uj’G‘:‘,ﬁ.{l 359 Siaa y A P17 2 r,:,,f, 14
Wavelength i@g: (D) Amplitude 3¢5 (Q) Frequency 29,8 (B) Speed  4r (A)

(1 |

Which form of Energy is Sound

Chemical & (D) Thermal 7 (C) Mechanical JSse (B) Hlectrical 529/ (A)

el § GA ki

@

R

light rays with an angle of incidence

Gty o2y (S G Sl § 1 < 48-8° B S ¢ 1) Ot in e Qb s § G5

The Critical Angle for a Beam of Light passing from water into air is 48 + 8° . This means that all

greater than this angle will be
Totally Reflected

Partially Reflected and Partially Transmitted i w2 o LK) (©

os "/.a.gf"—lgﬂ

Juned 1 #)F (B)  Absorbe S L bencie (A)

Totally Trans@ Unarl} £ J)’J; (D)

@ |

Index of Refraction of Water is : 152 (D) 1-00 (C) 1-31 A]@Q{\@(A) ! e u'r/h-”tfrjl ¥ dl

)

Difference between the places is

e AHPY ven £ ebudgioe byt ln) @%@@Lﬁm;ﬁ.r i g £10C A

5 Joule of Work is needed to shift 10C of Char

one place to another. The Potential
\% 2v. (B) 0-5V (A)

®)

more lamps are added :
Cannot be predicted q_f" £ (D

s the same r‘{utiu")df (C) Decreases f.amf (B} Increases .':‘..tn..iul (A}

g @ u’u J ol aé./iiw S S uk L dne B py -
fne

ss of the lamps connected in series as more and

(6)

6w (D)

: W..u/2-5A=.u:m.;~&zgo)J1,gJVj.gé;}zc_wréuv

What is the Power Rating of a Lamp connected to a 12V source when it carries 2+ 5 A Current :

30

W (¢ 14-5 W (B 4.-8W (A

)

A D.C, Motor converts

Mechanical Energy into Electrical Energy GRS S G Jsa (A)
Mechanical Energy into Chemical Energy uf&)fdg‘{ e G (B)
Electrical Energy into Mechanical Energy Vo G PRiasa s @jkﬁ.}?! (@)
Electrical Energy into Chemical Energy PO S G4 5 AN (D)

VS anay

C)

The process by Which Electrons are emitted by a hot metal surface is known as ;
Thermionic Emission ¢*“.£x.# (D) Conduction o*%" (C) Evaporation ¢/ (B) Boiling &1y (A)

g ‘Lt‘ﬂf( ¥ b ?J}g’ C—t/ff l,( J’: S K

The output of a two Input NOR Gate is '1' when @ = q..c}_n v10 e et L ugut ] (10)
=land s/ A=1(D) B=0and »/ A=0(C)B=1 and s A= 0 (B) B=0 and » A= 1(A)

What does the term E -mail stands for

e Fy S S 1)
External Mail (K451 (D) Extra Mail <1241 (C) Electronic Mail Jouf1291 (B) Emergency Mail J5%41 (A)

330

.. 238
One of the Isotopes of Uranium is 92U

(D)

Dol i T e TPU LT Y gl (12)

. The number of Neutrons in this Isotope is

238 (C}) 146 (B) 92 (A)

RS SE—
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Note : It is compulsory to attempt (5 -- 5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

130 = 2"15| IMake Diagram where necessary. -u:'&gﬁf’xd/,/'ugz! {Part 1) Jslo

What is meant by Damped Oscillations? Tl e pbad wgifpa () 2400

Write two features of Simple Harmonic Motion. -2‘5;; oyr’ wdf vﬁmfy‘/}gﬁf (ii)
Define Frequency and write its unit, &y e/ § eHED i
Describe the importance of Acoustic Protection, . -i{-:ugw‘ J JLJG:‘ (iv)
What is the use of Ultrasound in Medicine? Se U ¥ 2L 2 e £ "‘"l)‘ v)

Define Echo ( Reflection of Sound ). (BT ,288,) £1 i)

What is meant by Total Internal Reflection? St ptuali) it K (vii)
O w LA S Ut L i)

What is meant by the term " Nearsightedness "? How can this defect be corrected?

ld st S s gy LR S W LN @) 30

Write the coulomb's Law in Mathematical Form and write the numerical value of Proportionality Constant.

Define Volt. . @ -é-é'/’ (,( < (i)
Define Conventional Current. e S g a5 (i)
Define Electric Power and write its formula. I éug/:’ J .;:&J/'-gf (iv)
55 & S BTt erfok s V)
LY I K L L S i)

PRSI § 7 & drgiss 2 & N w206 i)
Write any two factors that increased the Total Force : on Armature of D.C. Motor.

&P 7 Pl s Lo 5T M S 9L FEH Sertp\fe , LR (il
What is meant by an ldeal Transformer? By using Law o servation of Energy write a relation for its Output and Input.
What is meant by Analogue Quantities? S‘ﬁ-_n/{_f o u,,l).ﬂj(-,.t. i 4 ﬁ/'d,,,
Write the Truth Table of OR Gate. -'4:0 S ¢ o1 (ii)
~ebr gl Ko £y s e b » (iii)

vidence that Cathode Rays are negatively charge

Differentiate between Direct Current and Alternating Current.
Write the Working Principle of D.C. Moto=. %

Give two reasons to supp

Define the term word Processing. L Ergdn (iv)

Write down the name of Four Web Browsers. -u..‘%t L iiilees s (V)

Write General Equation and an example of Beta Decay. -éﬁd ULl sl a2 g L iy (vi)

What is meant by Fission Chain Reaction? ?q.)'/lf & uﬁgld;uﬁoﬂ.i (vii)

Differentiate between Stable and Unstable Nuclei. e I J?/z {J,rg/:f' w2kl (vill)
(Partll) (o

@) Ot kb SNl bl By S ek m E ) § S ST 54

Define Simple Harmonic Motion and prove that the Motion of Mass attached to aspring is
Simple Harmonic Motion.
6) o S Lt g e IS e Fyse66emEL 1 U1l etiypleil 3 tem sy (i ()
Find the Focal Length of a mirror that forms an image 5«66 cm behind the ¢ u)f/ L za/
mirror of an object placed at 34+ 4 cm infront of mirror. Is the mirror Concave or Convex ?
(4) Explain the main features of Series Combination of Resistances. -2,':(.»&3; e c',__by"’:ﬂl g IRy g £ i, () 6/Jty
vt § Ploknlig 0-5m bidips U in ¥ i Ui 100 HC 41 500 JIC i § 2B ¢ Lot (L)
e Ep
Two bodies are oppositely charged with 500 HC and 10C JJC charge. find the force between the

two charges if the distance between them in air is 0*5m.

@ Fa B el T 2ol T el L (D 7
What is AND Gate ? Explain it with its symbol, Boolean Expressionand Truth Table.
®) B (T ) 27D en o 178 € A AL mEuh15 N (L)

The activitv of a Sample of a Radioactive Bismuth decreases to one-eight of its original
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: pZS & ey FL e Lelekiditey £ i 120y

The bending of Waves around obstacles or sharp edges, this phenomenon is called : L )

Diffraction <54} (D) Interference (24 (C) Refraction 5% (B) Reflection i, (A)
The loudness of a sound is most closely related to its ety SN G ol RS e (2)
Frequency %) (D) Wavelength  #%% (C) Period 15 (B) Amplitigie »i¢dS (&)

* Optical Fibres * work on the principle of D gt/ dég)_- AT 1 (3)
Total Internal Reflectiomfp‘«’f'tf; (D)- Diffraction ‘f{)} (C) Refr L%/ (B) Reflection u‘q (A)
: {@5 64___1,)2'.{ LK ._QQ‘IJ}IJI 4)

The Rays reflected at angle of — in totally Internal Ref) g
180° (D) %° @af B ° (A
The Index of Refraction depend on  : Akl et PO I UHl (5) |
L § G5 (B) The Focal Length (& W

The Speed of L

The Object ce ¢ Jﬁb&( (D) The Image Distance (i L & ©
The Unit of emf. is : : q..:;g’b’....é'l.ﬁl.dlg (6) r
“1 .
jC D C (© NC @® NC' (&)

1 KWh = -;:Ts‘alst(-gsm

3:6] (D) 3-6M (O 3:.6W (B) 3:6N (A |
 EHLSET L LSt 21 By 25 ()

Laws of Electromagnetic Induction and Electrolysis were presented by :

Simon Ohm (":I‘f‘ - (D) Newton /& (C) Jeorge Coulomb qulwlg (B) Michael Faraday a.}bég}.,” L (A) i
In CRO. the Potential of Grid is D e My 2cro.l (9

Neutral J¢ (D) Negative ( (C) Positive =2 (B) Zero 3 (A)

George Bole invented : : Vo & Ligde | (10)
Geometry JAz (B) Arithmetic Algebra s qoed) SCliagi ) (A)
Mean Algebra /42 (D) Boolean Algebra WAy (©

One Byte is equal to : Db dedsy LI (11)

4 Bits U*4 (D) 6Bits J¥6 (C) 8Bits J¥8 (B) 10 Bits ¥10 (A)
D ¢ 0 S et L5 gy KL (12)

During the Fission Reaction of 1Kg of Uranium - 235, amount of energy is released :

11
7:7x100 ] (D) 6-7x10) (O 5-7x10] (B) 4-7x10"0] (a)

0 7, 2 & —
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark in that question,

/P 10|
Velocity (fUs (D) Wavelength i‘%; (C) Frequency ¥ (B) Energy &/ (A) 1) :
e 6B S 2esedE LG0T (2)

Waves transfer

For a Normal Person, audible frequency range for Sound Wave lies between

30 Hz — 30 KHz (D) 25Hz--25KHz (C) 20Hz-- 20KHz (B) 10Hz -— 10KHz A)
L eI D (3)

The Index of Refraction of Ice is :

2.42 (D) 1-00 (C) 1-31 (B) 1-:52 (A) !

= ; ; i

Image formed by a Camera is : : @xu q_[f-émut./:( 4)
Virtual , Upright and Diminished  (sfierssl (i « J2» (B) Real, Inverted and Di ﬁd Bokar 1« S (R)

Real , Inverted and Magnified s s &1 e K (D) Virtual, Upggméé\@gniﬁed Sxegn Sie « Joun (©)
A Positive Electric Charge : @\X v o by gLl (5)
Repels other Positive Charge ¢-t/Cs f Lulpgkiy (B) other Positive Charge ¢ t/U=Fule iy (A
~ Repels a Neutral Charge /0 Ll @ Attracts a Neutral Charge -t/ Toupie (©) o
| L B T L Mpes S0 st Uyt Sl re B S 6)

The combined resistance of tw tical resistors, connected in series is 8.1 . Their combined

resistance in a parallel arrangemént will be
120 (D) 8 (O 4. (B) 25 (A)
e A (7)

The Unit of Electric Power is

Volt s (D) Joule  (Jz (C) Ampere A4 (B) watt <1 (A) _
An example of Mutual Induction is : b g dUa Juﬁnﬁa\‘}yﬁa (8)

Relay 4. (D) Transformer /17 (C) D.C. Motor Jr-y-$ (B) A.C. Generator £7A.C.(A)

The Particles emitted from a hot Cathode Surface are : UZLMWZWG:—KJS:;{‘/ 2 /‘-‘1& 4': 9)
Electrons 7291 (D) Protons 494 (C) Negative Ions /"thg (B) Positive lons /,Tghg (A
The Brain of any Computer System is 3 : q..bbb’(""/’:g,{ nitd (10)

Control Unit =iy (D) CPU. -f-d-¢ (C) Memory  Uue (B) Monitor /Zr (A)

Which of the following is not Processing : : q.:ﬂiﬁﬂ{f o (11)
Gathering t/W1 (D) Calculating t/o0CA> (C) Manipulating t/27%2 (B) Arranging twe’ (A)
;J’ Jliq_t':ff;j JJL/JEL;{»J":‘&JJH.—Q.,& (12)

When a Heavy Nucleus Splits into two lighter Nuclei, the process would :

Absorb Nuclear Energy Jm,.igd'-/'!f.&' (B) Release Nuclear Energy Jﬂ(y/ﬂd/‘lf'ff (A)

Absorb Chemical Energy J)fy;‘ﬂ;/"# (D) Release Chemical Energy beﬁd}fﬂ ©)
ke o BRewlD 1o (ot
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Nots = W i compullory to attempr (- 5] parts each from Q.Ne. 2, BMNod and QNed end In.\emﬂ mﬂm‘,l
questiors from Part 1T, Write same Questiors Number and lts Pant Mo, s given in the queston paper.

30 = 1;15 : Make Diagram where necessary. .uf B ke AU ,,.?:*.s* | |
Define Amplitade. " TP T ke w2
Dvefive Rastoxing Foive LA F bR )

What i meant by Silent Whistle? f-f-#;tfh.l-w-ﬂﬂi— i

What is meant by Zerobel? tedrbe JHhei (W)

05 m P o Moms L LfE e A )

Caleulate the Frequency of 4 Sound Wave of speed s 1 and Wavelength s (:5m

Diefine Ampere, the Linit of Current —éf .y ﬁﬂ-ﬁw’tﬁd’; vl
| Saste Joule's Law, LA At £ Jr il
Imm Unit of Resistiicr, n il AP atg L e (i)
r'ﬁlm taws of Refraction L AL ) 340 | 1
Define Power of Lms. éiﬁif'-ﬂ.r" o Pl gy i *
What is Varisble Capaciioe? R el Rl Ll g s (0]

Define Dielectric. e iyl J A0 2 (i) |
What are the Mazards of Static Electricity? L s

What s meant by Cell Phone? te e ohE (v}

What is Flish Drive? T i sl gl il

What s meant by Internet? @ tedrde a2 (vill)

L et eV AL e ¥ anf TR sy of Yideticss” 1} 4/

% Curment Carrying Solenokd.
o i gt ()

ﬂmmmhm the direction of IIMQLMG’FMGI

o @? dq:md
.L tedmop e A s A Mued (il
!lﬁmmpe JML .,qfi'ﬂg_lﬁ'r {ivi
| TGE S e A X = AB G TEALT i)
Haw can you compare the Logic om X = A.B with usual Operation of Multiptication? E
Dafine Natural Radicactivity. A aEgia L
 Wiite amy two propesties of Beta Particles. gl AL el
A T et o 2 lML LoPugds el

What see twe common Radistion Hazards? Describe the precaution that are faken against them.

 Wirite the factors on which the Magnitude of lodu
| Mame twn factors which can enhance Thermion '
| Write the name of components of Cathode B

s

Ll §* Hagd A e oy P F et s

Define Wave Motion. Explain with example * Waves as Carriers of Energy ©.

=) T U 8 i) T S B ) Berbem %ffwggkn& 105 cm egrigh ol aem L1 ()

Asn alject Wem il Is focated 10-3cm froma Concave Mirror with Focal Lengfh 16 cm.

[y Where is the image located ? (i) How high is it?
.hﬁfﬁlﬂhﬂ&'ig‘.m (el L Sl TQ"J:" R pxljh-uﬂ;{uﬂj Ef‘ur‘

Wh# is Gold Lead Electroscope ! Discuss its working principle with 2 labelled diagram.

S Al e P e e b os A 2 05 @ AL BV Re 24D ()

B 2 curvend of (-5 A passes throagh & bulb connected across a battery of 6V for 20 secomds, :

them find the raty of snengy bamsferred 1o the bulb, Also find the resistance of the bulb. : i

#4) W i Compuer? What s the e of Compute i veryday Wt te i PHAL T it e e (i) 7 e

WL o8 ¥ N a0 26 JI5 - 35 S0 o 60 24K 0L, ()

{.'uh;h & w8 Radicaetive ehement with half life of 5«3 years. What Fraction of the
original sample will be left after 28 years? , P e
s phe i ¥ T T e o 15 Pm

,,_g, ~—r——

‘ gm

@“

e

—
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‘h L Pour pouadiis cheices & B, 0. 0 o sach quewbon ars pivan ‘Which choice m eoewet I thal ciaie infrord =l Bl geealm
\ mlﬂ“ﬂmhpphﬁlhﬁﬁlﬂﬂﬂﬂ!ﬂmlﬁghmmﬁmﬂ_ﬁmmﬂiﬂIﬂm

o 2 Vacoumt, il Hlactrmemageisthc Wiwts havid the iiaie ¢ 1yl x,ﬁyﬂvﬁ:@ a.«-th
wavelength A (D) Awplitade 1% () Frequency o) () Speed G0 | M) |
- WJN}J Filearrtl Sl il

Vhor & Normsl Persas, sudible frequensy sange for  Sound Wave lies bebwesn
Al m—-mxm (13 2% Mz— 25 KHz {0} mh-mm il mm—-w KHz €A)

“k'é.ivﬁ Theory of Lighi bs formsulsted By o EUS;?”! -3!.!":@!“ %
Bell o} (D) Mawwall ,Ltﬂ_f? iC)  Farsday i {B] Mewiom ol A} q
Which type of lmage is formed by o Comves Leas bm g Sereen q.l.‘hg' Jr”h -ti'-‘i"; ﬁy"ff ) u
Inveried and Vil oot T (B} Inverted and Ry AR Y ]
. Upright and Virtual o o fir (0D Upright w@pa” St |
| Gl L fa il .Cs‘)' beilzmm i ppld w5 |
Twa smali charged spheres are separaied by 2 mm . Whit 4’\« fnflowing would prodwoe the ‘
greabest  witractive Force | @ 1
v 2y amd 4 -3g (D} + 2 and o 42@ Ig dnd r-lq'{BJ * 1g amd & + ag {A) ‘7
Eleciric Pawer [P Is egqual o 2 L H";lui-%
" l;_‘!;",l-* i"r’ﬁ ‘Ili l '0.' : Eﬁl- _ 1
%JMMMWWMM&&
What lappent lafmlfmmﬂmlt!iipmmniﬁnlmmnlntmgMIMmm
lame e sdiied Decreares e dad tB) ermaney  atrdidl (4D
| Canrwt be prodicios ¢ J¥15 (D) Remaies the Same extDAM )

| - R e

: R N | LT Nt T PP Y W 3 S 18]

Wi the corrent In m wies which i placed perpendiculer fo a mapsetic field inciessen, the Rorce on the wes

‘ Wﬂll be aero p.ﬂu"' X4 Komaina ihe Same Lﬁimﬂ' l(‘l !fl!ﬂtim Jﬂf‘r il Incrwanes J:Li A3

The l‘n‘htl!i emlited from & Bol Cathode Suefeie are | qawﬁm—ﬁi ] #441‘ (k]

- Eltrons nﬁ‘s D) Protans #hg () Negative Tom ﬁ,yﬁ (B) Pasitive Tons Fldyg (A |

Ek‘n‘hh;h of lhl l‘\nllnn‘lng in mob & Siorage Deviee o fﬂ.ﬁ u&ﬁﬁ'ﬁ&nﬁ"‘uﬁn’ “ llm i
Cascites u,.'“r (o) Ky Hoand hzs.f () Flavh Drive. ;'u..,v‘«" m Hasd Dink JJL-,CAJ

The [Rasic Chprealinn lml’mmld‘ by a Compuier are i hﬁ'ﬂfw L fhf y

i Non Arithmetic Operation X 0Bt (1) Arlthemete Operation w5 TBal (4) !

foah A snd L Whil A D) Logic Operation i L

AP DR BN gy U -r?r“f-f'ﬂ'ﬂ-t
L'hﬁr of IH; lsabepus of Lirsnium s :.i-.. L The number of Neubrons in the fastops (s
M D A ) e inp ®| A

S S B i S e e

S




(2015-17) to (2016-18) u"*’ SSC( Part-1l) 120 - 3 3o /‘U}/
cAF 145 s/ syt | ssc-a2018 | (26 ) 5 P

Uy cg;f;;ﬂ(»."-q-dlﬂt/ Fe N2 L7215 - 8) Edvpat 4 Ay 3 Ay« 2 AdrFdie & ...w }
el 2L DT b a5 13837 g AS

Note : It is compulsory to attempt (5--5} parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 =2x15

Make Diagram where necessary. -/ k‘ffnd»/‘uw Jslo

Define Mechanical Wave. -U,’f—é.’/" g ){)M {i 2/'.'U""
-;{/r;"‘é{ J {:-t;- 0+4m )‘%a » 4 Hz u’k){) J g,dnd/cfr{f’ {if)

A Wave moves on a Slinky with frequency of 4 Hz and Wavelength of 0«4 m. What is the

Speed of the Wave?

What is Pitch ? Give its an example. -@J&.ﬂ&/_ﬂ'q.,yg < (Pitch) g (iii)

Write down two advantages of SONAR. -u_‘)_;fﬂ} » £ (SONAR) st (iv)

What are the necessary conditions for the production of Sound? ?q..dn/'tnb’ﬁl;ﬁ)l)dwfgl.ﬂgﬁiv (v)

Define Conventional Current. -é{..y/"- d/ LRY Jadoy ,xf (vi)

Define Resistance.And write its unit. _é:‘{vzs’uu,ne{ S el (vil)
aState Joule's Law, @:ﬂ}’JUJF L di {viii)

{ Define Principle Axis and Focal Length. 4(.1'/3 Jq-\-ﬂu-\df_,l o8 Sl S a (i) 32y .
What is meant by Total Internal Reflection? ?q..:l/l[a-unf-\-\q) Ju ) B8 (i) :

I;What is Endoscope? ¢ ?q_U’ Furl (iii)

| Write two uses of Capacitors, ng_«lﬁ"’» L )’j’( (iv)
) @ s
|

What is the Unit of Capacitance? Define it. e Loy KMMY (v)
. Tesl e 5 ot gaaS ) gl pia i) (vi)

What is meant by Information and Communication ?
U 5 S P 2SS (vil)
Write name of two essential parts of any Comm@ ion System.

What is Super Computer? @ q_lf n_-,// (viii)
Define Electromagnetic Induction. O é(_ﬂ/’ g u.uﬁa\-_‘ﬂpf,p 3 A (i) 4/‘1)':’

Differentiate between Generator and r. ?q.u/’gu-‘- s g2 (i)
Write the name of the compon CRO. -é;‘,‘ly’tﬁ.uy’[. CRO (iii)
Define Boolean Algebra. -4&} S A (iv)
What is meant by Thermionic Emission? ?q..)yt_fc.w’-’fi_fz‘; (v}
Define Background Radiation. -q{.y" S Pis229/ L (viy
Differentiate between Atomic Number and Atomic Mass Number. -é.‘!dJM /.‘:J LT /.f ¢ (vii}
Write two characteristics of Gama Rays. -é.‘fa .-.gar*» J ZA(( (viii)
(9=
4) .4.&:*.!/4&( cff J H)ﬁgui/ S U Sk (L) SKUV
Prove that Motion of a Simple Pendulum is Simple Harmonic Motion.
(5) TJnQ’ i"’:}/i g J/.q_fj;’{ 5+0cm é&/ ‘ 6' J ("..QL:!&.‘{{ 10+ 0 cm &L //'J-‘rf ()
| An object 10+0cm in front of a Convex Mirror forms an image 5+ 0cm behind the mirror.
What is the Focal Length of the Mirror? L
@ LSl 3 s UL L THE S ySn 5 10 G 18,5 6/
What is Gold Leaf Electroscope? Discuss its working principle with a labelled diagram.
) PGP AL i Tl 2 LS S 10V f 3 £ skt sk (L)

e el 4 1)y P 22y e )

If two resistors of 6kA and 4 k. are connected in series across a 10 V battery, then find

the given quantities : (i) Equivalent Resistance of the Series Combination
(ii) The current flowing through each of the Resistance
4) -L{fukLM+:Vg& FEIG A (L 7 A
What is meant by Nuclear Fission Reaction? Explain it in detail.
(5) Write a detail note on Compact Disc and Flash Drive, <Ee ...J;M zl/hf'u 7] JLA-Q/ ()
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